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QUESTION 1

What is a limitation when configuring a server hardware solution using UDIMMs?
A. minimum amount of CPUs per channel

B. maximum size of DIMMs per channel

C. maximum number of DIMMs per channel

D. minimum speed of DIMMS per channel

Correct Answer: C

QUESTION 2

What are the power requirements for an HP Apollo 8000 system?
A. three-phase high voltage AC power input

B. DC power input

C. three-stage power rectification

D. single-phase high voltage AC power input

Correct Answer: A

Reference:

http://www.hp.com/hpinfo/newsroom/press_kits/2014/ComputeEra/HP_Apollo8000System_ DataSheet.pdf

QUESTION 3

A customer needs parallel data processing scalability for their custom financial analysis application. Which solution best
meets the customer\\'s needs?

A. a collection of tower servers

B. high-performance technical cluster
C. arack of 1U servers

D. a collection of blade servers

Correct Answer: B

QUESTION 4
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You are discussing a new ¢7000 BladeSystem solution with your customer and they indicate a possible future need to
increase the amount of NICs per server to a total of eight. Which interconnect type fulfills this requirement by using two
interconnect bays?

A. HP 1/10 Gb-F Virtual Connect Ethernet module

B. Cisco Catalyst Blade Switch 3120X for HP

C. HP 1/10 Gb Ethernet BL-c Switch

D. HP Virtual Connect Flex-10 10 Gb Ethernet module

Correct Answer: D

Reference: http://h18004.www1.hp.com/products/quickspecs/13127_div/13127_div.pdf

QUESTION 5

Which column in the exhibit indicates the status of firmware inventory of the managed systems?
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A. PF
B. ES
C.sSw
D. HS

Correct Answer: C
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